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Both will appear in the All Fields list, but only if the alias is specified in the search.
Both will appear in the Interesting Fields list, but only if they appear in at least 20 percent of
events.

list.
The alias only appears in the All Fields list and the original field only appears in the Interesting
Fields list.
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Correct Answer: B

QUESTION 21
Which of the following searches show a valid use of macro? (Select all that apply)

A. index=main source=mySource oldField=* |'makeMyField(oldField)'| table _time newField

B. index=main source=mySource oldField=* | stats if('makeMyField(oldField)') | table _time newField

C. index=main source=mySource oldField=" | eval newField="makeMyField(oldField)'| table _time
newField

D. index=main source=mySource oldField=" | "newField('makeMyField(oldField)')" | table _time
newField

Correct Answer: AC

QUESTION 22
When using timechart, how many fields can be listed after a by clause?

A. because timechart doesn't support using a by clause.

B. because _time is already implied as the x-axis.

C. because one field would represent the x-axis and the other would represent the y-axis.
D. There is no limit specific to timechart.

Correct Answer: B

QUESTION 23

Which group of users would most likely use pivots?
A. Users

B. Architects

C. Administrators

D. Knowledge Managers

Correct Answer: A

QUESTION 24

Which delimiters can the Field Extractor (FX) detect? (select all that apply)
A. Tabs

B. Pipes

C. Spaces

D. Commas

Correct Answer: BCD
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QUESTION 25
Which one of the following statements about the search command is true?

A. It does not allow the use of wildcards.

B. It treats field values in a case-sensitive manner.

C. It can only be used at the beginning of the search pipeline.
D. It behaves exactly like search strings before the first pipe.

Correct Answer: D

QUESTION 26
When should you use the transaction command instead of the scats command?

A. When you need to group on multiple values.

B. When duration is irrelevant in search results. .

C. When you have over 1000 events in a transaction.

D. When you need to group based on start and end constraints.

Correct Answer: D

QUESTION 27
A calculated field maybe based on which of the following?

A. Lookup tables

B. Extracted fields

C. Regular expressions

D. Fields generated within a search string

Correct Answer: B

QUESTION 28
Which of the following Statements about macros is true? (select all that apply)

A. Arguments are defined at execution time.

B. Arguments are defined when the macro is created.

C. Argument values are used to resolve the search string at execution time.

D. Argument values are used to resolve the search string when the macro is created.

Correct Answer: BC

QUESTION 29
To identify all of the contributing events within a transaction that contains at least one REJECT
event, which syntax is correct?

A. Index-main | REJECT trans sessionid

B. Index-main | transaction sessionid | search REJECT

C. Index=main | transaction sessionid | whose transaction=reject
D. Index=main | transaction sessionid | where transaction=reject"

Correct Answer: B
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QUESTION 30
What is the relationship between data models and pivots?

A. Data models provide the datasets for pivots.
B. Pivots and data models have no relationship.
C. Pivots and data models are the same thing.
D. Pivots provide the datasets for data models.

Correct Answer: A
QUESTION 31

When multiple event types with different color values are assigned to the same event, what
determines the color displayed for the events?

A. Rank
B. Weight
C. Priority

D. Precedence

Correct Answer: C

QUESTION 32
Which of the following statements describes Search workflow actions?

By default. Search workflow actions will run as a real-time search.

Search workflow actions can be configured as scheduled searches,

The user can define the time range of the search when created the workflow action.

Search workflow actions cannot be configured with a search string that includes the transaction
command

OO W

Correct Answer: C

QUESTION 33
In what order arc the following knowledge objects/configurations applied?

A. Field Aliases, Field Extractions, Lookups
B. Field Extractions, Field Aliases, Lookups
C. Field Extractions, Lookups, Field Aliases
D. Lookups, Field Aliases, Field Extractions

Correct Answer: B

QUESTION 34

Which of the following actions can the eval command perform?
A. Remove fields from results.

B. Create or replace an existing field.

C. Group transactions by one or more fields.

D. Save SPL commands to be reused in other searches.

Correct Answer: B
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QUESTION 35
What does the Splunk Common Information Model (CIM) add-on include? (select all that apply)

A. Custom visualizations

B. Pre-configured data models

C. Fields and event category tags

D. Automatic data model acceleration

Correct Answer: BC

QUESTION 36
Which of the following are required to create a POST workflow action?

A. Label, URI, search string.

B. XMI attributes, URI, name.

C. Label, URI, post arguments.

D. URI, search string, time range picker.

Correct Answer: C

QUESTION 37
After manually editing; a regular expression (regex), which of the following statements is true?

A. Changes made manually can be reverted in the Field Extractor (FX) UI.

B. Itis no longer possible to edit the field extraction in the Field Extractor (FX) Ul.

C. ltis not possible to manually edit a regular expression (regex) that was created using the Field
Extractor (FX) Ul.

D. The Field Extractor (FX) Ul keeps its own version of the field extraction in addition to the one that
was manually edited.

Correct Answer: B

QUESTION 38
What are the two parts of a root event dataset?

A. Fields and variables.

B. Fields and attributes.

C. Constraints and fields.
D. Constraints and lookups.

Correct Answer: C

QUESTION 39

Which of the following describes the Splunk Common Information Model (CIM) add-on?
A. The CIM add-on uses machine learning to normalize data.

B. The CIM add-on contains dashboards that show how to map data.

C. The CIM add-on contains data models to help you normalize data.

D. The CIM add-on is automatically installed in a Splunk environment.

Correct Answer: C
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QUESTION 40
Which of the following statements about data models and pivot are true? (select all that apply)

A. They are both knowledge objects.

B. Data models are created out of datasets called pivots.

C. Pivot requires users to input SPL searches on data models.

D. Pivot allows the creation of data visualizations that present different aspects of a data model.

Correct Answer: D

QUESTION 41
Which of the following statements describe calculated fields? (select all that apply)

A. Calculated fields can be used in the search bar.

B. Calculated fields can be based on an extracted field.

C. Calculated fields can only be applied to host and sourcetype.

D. Calculated fields are shortcuts for performing calculations using the eval command.

Correct Answer: ABD

QUESTION 42

The Field Extractor (FX) is used to extract a custom field. A report can be created using this
custom field. The created report can then be shared with other people in the organization. If
another person in the organization runs the shared report and no results are returned, why might
this be? (select all that apply)

A. Fast mode is enabled.

B. The dashboard is private.

C. The extraction is private-

D. The person in the organization running the report does not have access to the index.

Correct Answer: CD

QUESTION 43
Which of the following is the correct way to use the data model command to search field in the
data model within the web dataset?

A. | datamodel web search | filed web *

B. | Search datamodel web web | filed web*
C. | datamodel web web field | search web*

D. Datamodel=web | search web | filed web*

Correct Answer: A

QUESTION 44
Which of the following statements is true, especially in large environments?

A. Use the scats command when you next to group events by two or more fields.
B. The stats command is faster and more efficient than the transaction command
C. The transaction command is faster and more efficient than the stats command.
D. Use the transaction command when you want to see the results of a calculation.
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